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02E 8,931 |2F 385 |2E 356 | 2EF 39 |2E 3,101 |&H 1504 |&H 696 |2F 730 |£H 193
1{&E8H 10,734 |ELUH 601 |EERE™T 641 |BRZEETH 69 |{EE™H 5486 |BE[th 2540 |EE[TH 1,684 |ELUh 1,624 |BE[ETH 409
2\l 10,655 |¥MITH 596 |AREETH 576 | F0FRLTH 66 |fEET™ 3933 [{li&E 2,407 |fRHETH 1,310 |f&# 1,327 |&B&HF™ 408
3| X[ 10551 |f2&m 574 |K&Hth 573 EREB™H 62 |E¥ATH 3596 | EHH 2,202 |Lfgth 1,193 |luFsH 1,192 LUz 397
4LET™H 10,287 |#FT™ 558 |dt oM TH 538 | Kot 61 |BIABXER 3470 |lufgth 2082 & 1,185 |&FFH™ 1,126 |$iBm 331
5| Bl 10,079 |IEET™H 532 |t2fEmh 538 |#EETh 57 |BAHE™ 3436 HHH 1,909 |HFHFM 1,161 |F=&mH 1,072 | +B#[R™H 324
6/ b iTh 10,019 [ deAuith 506 |#Friam™ 511 |IKETH 55 |&LV=Fm™ 3429 |teET™ 1,866 |R¥rm 1,049 iRt 1,036 |f@HH 319
7 R=ERT 9,864 |f@FTH 502 |IKETH 495 |RI&TH 54 |FRfT™H 3422 |JKPET™H 1,862 |f2BT 978 |EX[Th 1,016 =L 301
8 tRIEIR 9,748 |JKFETH 488 | Ri&mH 491 \#Fri\T 53 |FEMH 3,399 | deAmth 1,854 |f@Hm™ 890 |#£iRth 1,008 #MITh 296
9|JIlETH 9,732 | ¥t 480 |Ei&T™H 476 | $&[H 53 |JIIH 3,355 |fHIE[RETH 1,843 |&RE™ 889 |RI&TH 975 |®kETH 293
10| BRI AR X &1 9,710 | KHh 4711 & 451 | ERTABX &R 50 |BEfET™H 3,354 |faHth 1814 |db At 874 | KiEMH 938 |iRth 288
11| E¥H 9,668 |ElFTH 466 |ELUTH 442 BT 50 |#&ETH 3288 |fFAHETH 1,796 |f2REmH 845 |RFXHTH 883 |[li&E 268
12|#EH 9,644 &R 463 iRt 436 At AT 50 | KiE#ETH 3,280 |;E¥ATH 1,780 |fEET™ 838 L&\ 858 |JIl&H 260
13| FEH 9,630 |¥FriETH 443 BHET™ 435 |Ei&TH 50 |RI&tH 3275 |HitETH 1,708 |#F ™ 770 |fHETH 857 |&iRth 246
1438 H 9,625 |fEfE™H 443 |fEET 433 | HHE[RE™ 49 &R 3,259 |&LV=FTH 1,703 |gitET™ 767 |FREmTh 841 |BRZE@™h 239
15 Ri&™H 9,585 |FNFxILTH 439 |fHET™ 413 |3Emw 49 |IxETH 3,247 |JlligTH 1,688 |##ETh 761 | KBRtH 840 |RI&th 226
16 {@F ™ 9546 |FEth 437 |FEmh 407 |BHFT 48 |f2RETH 3,193 |EFRMmh 1,687 | Rt 761 [ dbhumth 839 |fES 222
17 & ™H 9,436 |fH{ERTH 436 | FOFRUTH 402 |REXTH 46 |fH#EETH 3124 |FEH 1,680 |fA¥E[RT 759 |\#AiTTh 815 |dbAdNvh 219
182 9,428 |FHETH 434 | REEHEBXER 393 | KBrth 4 BB 3091 BT 1,670 |FEmH 732 |FFrLTH 797 |HIFETH 216
19| &LV =FH 9418 |{&&™H 433 |JIl&TH 388 |METH 44 |fHETH 3,064 |#EETH 1,659 |/KFE™ 728 |FRRETH 171 | FH=ETH 214
20 #ETH 9,405 |REATH 432 |{&E&m™ 375 |ZBT™ 44 WO 3064 |FEETH 1,635 |;E¥AT 722 |[t2ETH 756 | REFTH 207
21 AT 9,302 |lLAaTh 420 |REKRT 367 BT 43 iE™™ 3,057 |#iBTH 1,627 |REHBXER 721 =R 748 |luOTh 195
22| &R 9,272 |lLfzth 416 |E¢RET™H 366 |BERTH 41 |R#ETH 3,028 |HIEEHBXER 1,626 |FFFmH 708 |#Fri|aT™h 743 |EREHXEB 192
23 B¥E™H 9269 |[ERET 416 |*LiEvh 361 AHEM™ 41 |RiIE™H 3021 |Ei&t 1,603 |FHE=ETH 705 |FE 729 | K:iETH 186
24| fEET™H 9,230 BHH 411 | FBRR[RTH 333 |{EE™ 40 |dbAiMTH 3020 ERFFTH 1,601 |#FiEmH 701 |JIlUgTh 722 |\ K&Hh 185
25| B 9,183 |Ei&t 411 |FE#T™H 331 |ALtEvh 39 ¥rAmh 2974 |fER™™H 1,563 |BWT™H 693 EIRBE™ 718 |JKETH 185
26| K& 9,180 |&Rth 402 |EX[MTH 331 |fuE™ 38 |l 2,969 |#ITH 1,441 |RERTH 689 |EImERXER 711 | FEH 184
271|F5&H™ 9,176 |F&#ETH 396 |;EfrTh 324 E¥Fmh 38 |WiTTh 2,954 |FH#&RTH 1421 |[¥AIT 678 |f&f™™H 708 |FEmATH 177
28| B ET 9,058 |fEET 394 | KBt 308 |UfzTh 34 |)KETH 2934 | =BT 1,416 |ZRE&RTH 661 |FHBET 708 | S%ATH 175
29 ¥ ITh 8,969 |{l&ETh 391 | FFHFM 3056 |FEM 34 [ET 2926 |[ERET™ 1,395 |luAw 658 |[LLOTH 702 |#EETH 174
30 EMTH 8,960 |Hit&TH 391 [i#EmH 303 |JI|isTH 34 |Euth 2,882 |EEARTH 1,382 |JIlI&TH 653 |HHE/RET™ 677 &R 174
31|KFT 8,888 |XKiETh 378 |ILBE™H 303 |#uth 33 |AFrLH 2878 |Eith 1,377 |&fT 646 |RErmh 676 | KBRTH 161
322/ luAh 8,832 |HRIEHXER 375 | KiEMH 302 ;EMh 32 |tgH™ 2872 AHEM 1,376 | SLV=FEmH 625 KPP 669 |=ULVf=FH 157
B ERET 8,687 |[LB&T 373 |)KETH 301 [;E#ATH 31 |BREM 2,851 |fHFT™H 1,371 {&Em 594 |&Eamh 644 |[LBETH 152
34 HiItE™T 8,553 |JI|i&vh 366 |REFFTH 296 @B 30 | KBt 2,838 |lLOH 1,340 |IFETH 578 |{EE™ 639 |fEET 150
B EET 8,489 |AEmmh 364 |ELV=FEWH 288 |f@FH™ 30 |KHmh 2,832 | E&Ith 1,293 |ESH0H 577 | K&t 639 | &TH 148
36| FH=H 8,467 |&L\=FMW 358 |ZB™H 278 |fEE™ 29 |FHE™ 2,826 |#LiRTH 1,290 3R 577 |#&ETH 635 |[fETH 143
37 REARTH 8,374 |¥AlUTh 354 |(luOTh 260 |H&RTH 29 |EEATH 2812 |BEH 1,290 | ERW 574 |fEET™H 634 |f&[™H 140
3831 ™ 8,331 |BfFTH 353 |feH™ 258 |JKETH 28 | ILB™H 2,783 | K&t 1,255 |AHE™ 558 |HiIt&™ 630 |;E#ATH 138
39| ARE;@™ 8315 |ZBE™ 352 |[#ITH 255 |&iRtH 28 |#LMETH 2,760 |EUtHh 1,254 |#luth 557 |&LV=ETH 596 |IEETH 132
40| Kpth 8,298 |Etath 351 |#UTh 249 |#¥iITh 28 |#EF;mT 2,748 | K:ETH 1,213 ;W 547 |El&TH 580 |{EE 131
41 EBRFth 8,198 | BAHET 350 |Wufzth 236 |[LE™ 27 |}’ 2,741 |IEETH 1,192 |[EET 519 |JE¥th 568 |EEIRET 129
42| K 7992 |&iRth 348 |FHFFTH 230 |lLuOvh 26 |EHZT 2,697 | KFrth 1,188 |ELUTH 517 |ILETH 559 | F0FrLTH 128
43 ;Em 7,980 #FRATH 346 |fEET™H 227 | &WLM=FH 26 | R¥Fm™ 2,690 |#lth 1,166 EERET™ 512 |Bffth 550 |BEnth 128
44 F0FR LT 7914 |#ETH 339 [feE™ 222 |®EATH 24 |R#ATH 2,667 |[ELTH 1,153 |ALiRTH 511 |=5th 538 |#AlTh 128
45 LR 7,786 | ALiRTH 339 |RELH 221 |BEH 24 ¥t 2,656 |;ETH 1,149 |F0grum 509 &EHET™ 537 |#LiRtH 127
46 Sath 7,684 |BE[TH 313 |&Rth 219 |BfFH 24 |FHpFTH 2,652 Rt 1,148 | KPR 504 |#AUTh 535 |BEET! 126
47 [LETh 7487 | KRt 311 |#xEATH 204 | K:ETH 23 Bt 2597 |{EETH 1,140 |&Rt™ 459 |IKBEth 525 |EfFTH 123
48 ¥ luth 7,402 |;E¥ATH 274 |FHE™ 193 |Ri4E™ 22 =B 2588 |€RH 1,133 | KZEMH 453 |[FLMETh 524 |[EBh 119
49 ERTH 7,331 Eh 264 |EHEH 190 M 22 |[EH 2,453 |EIGTH 1,084 |[EUT™H 452 |BEH 518 |;Eth 118
50| & Lt 7198 |[@Lth 240 |E&tth 179 |F#E™H 20 |BEHTH 2,442 | FOFRH 987 | KHpth 438 |iEth 486 |HEKTH 117
51 &= & 7197 &%t 235 |RitE™H 142 | S 20 |&E&0mh 2420 |[LBTH 976 =&t 415 |REKRT™ 479 |EIHTH 115
52 & %0t 6,828 | BH&HF™ 199 |&%0h 140 |&%0tHh 19 |E&H 2170 |FF;mH 827 |#REET™ 248 |[Euth 472 |t 104
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02E 2,856 |2[E 13,560 |[£H 5242 |&H 8275 |£H 2941 |2H 4,492 |2[F 885 [ £H 13,659 |£H 1,641
1|z mh 3,760 |E¥[th 17,987 |BRZET™H 7440 (BT 116.27 |f@H™ 5722 |{&8B&™ 6,865 =B 1,429 |ZRE&RTH 17577 |lLufeth 3,120
2| mERT 3549 |Eumh 16,697 | 7018 |Eumh 107.94 |ELUH 4312 B[ 6,591 |RE#&RT™ 1,422 |lUfzTh 16,613 |HF#H™H 2,191
3 RAT™ 3421 |{8B&TH 16,358 |&%REmH 6,289 |E#fATH 104.73 |&iR™ 4211 |#xATH 6,476 |FENEH 1,378 @Bt 16,588 |E&[TH 2,046
4 fRREIRE 3,334 |lLfgth 16,228 |fEET™ 6,064 |;EATH 98.38 |FH&RTH 4,153 |JKPE™ 6,346 |fHETH 1,298 |£ER™ 16,057 |#iiamh 2,009
5 $imm™ 3,327 |f@FHTH 15904 |#\HEHT™ 5978 |[li& 9758 =B 3937 | B&HM 6,289 | K;ETH 1,147 |F&FT 15,771 & 1,897
6 KB 3,322 |®#HATH 15,527 |lLUfizTh 5768 2B 94.49 |$7:BtH 3,615 |HiI#B™ 6,219 |IRth 1,140 |EUm 15529 @Bt 1,877
7&R™ 3,304 |¥riBTH 15190 |&2HE™M 5709 | XKFrth 9185 |#FET™h 3527 |Wufgth 6,197 |#TITh 1,115 |EERE™H 15470 |S%1th 1,867
8|#&EET™ 3290 | E®HH 15,187 |t 5656 |fRFETH 9113 | &#mh 3503 | EFmh 6,046 |EX[EtHh 1,104 REAXE 15373 | EF¥FTH 1,769
9| EUTH 3276 |JKETH 15102 |ELUH 5653 |BEMtH 90.97 ¥Rt 3475 |Euth 5823 | KBt 1,079 |JIlgTH 15129 |#HE™ 1,763
10/ AL LN T 3,262 &t 15,087 |EBHTH 5612 |#&H 87.60 | K&t 3,468 |[l&Th 5673 | KT 1077 | E¥H 15,116 3R 1,742
1118t 3214 |£iRt™H 15040 |#F ™ 5604 |LLfizth 87.11 |lufzth 3450 |FHEEH 5644 |EfTH 1,047 |#ETH 15,023 |F#&RTH 1,727
12|l & 3,191 |E%[™H 15030 |#Ith 5582 |HiI#ET™H 86.66 |BX[TH 3274 |#Fi\ET™H 5512 |&ULV=ET 1,038 | KBrth 14,981 | HEHEEXER 1,723
13| R ABX AR 3,136 |HitB™H 14899 2B 5540 |[HHT 86.45 |;EHATH 3243 |REKTH 5436 |[i&TH 1,028 |fiET™ 14,892 | KPR 1,714
14{lEH 3,124 | &H&HH 14839 |=BmH 5493 |FEETH 85.65 | XKFxth 3,189 |HFFTH 5,395 |i#ETh 1,024 |FEtH 14,800 |f#F ™ 1,698
15| =B 3,106 =R 14,651 |{l&E 5471 | +EEE™S 84.67 |iEm 3,157 |&ULV=FTh 5219 |feB&TH 1,005 |$Rth 14,755 E£BW™ 1,692
16| KEH 3,069 |FH#&RTH 14,625 |#ALlUTH 5425 |&LV=FEmH 84.64 |WNiTIThH 3,140 |FETH 5011 |[LB&TH 994 |FkETH 14,748 &Mt 1,672
17/lL@ah 3046 |FEETH 14,488 |i&Rth 5419 |EBT 8434 |{EET 3,105 |#LiRH 4906 |FEmH 977 |&WZE=Em 14,723 |#3lUmh 1,667
18|&=LV=FH 3,043 |&LV=FEM 14468 |KiEMH 5417 |IKEBTH 8425 |EiI&T 3,043 R 4,841 |F0FrLTH 970 |#FriAT™h 14570 |f@Hm™ 1,643
19 FhH 3,038 | K:ET 14,147 |FREFEHEXER 5378 |BHEM™ 8417 |HEHRXER 3,040 |&Rth 4,840 |JIliTH 969 |FH=ET™ 14,333 |SLMV=FTh 1,638
20 | %[ 2997 |REARTH 14,003 |ZRE&RTH 5370 |fEETH 8393 |[ERBEMW™ 2,975 |JIGTH 4778 |EI&TH 965 | K:ETH 14273 | &2HEW™ 1,625
21|t2fEmH 2989 |fHFTH 13,988 |SULV\f=FmH 5341 |FH#&RTH 83.77 |E%Rth 2965 ERBETH 4,695 |BELTH 957 |B%¢ETh 14262 |BHETH 1,619
22| FEH 2978 |FET™ 13,901 |IHETH 5326 |&iRth 83.06 |BET™H 2,955 |fEfmH 4654 |HFF™H 954 |HFFTH 14235 |FEmh 1,617
23 A EETH 2958 |HEERXER| 13,879 |#FiET™ 5312 | FZEH 82.98 |REARTH 2953 | tHEET 4642 |fEBETH 936 |HHEIETH 14,227 |#MITh 1,617
24 F&HET 2941 |;E¥ATH 13,871 |E&H 5275 |RI&mH 8250 |{2Em™ 2948 HIEHANXER 4,624 |BEET™ 935 |fEHTT 13,950 |EUm 1,605
25| B HET 2924 |IKETH 13,710 |#&ETH 5191 ¥\ Tvh 8239 |lET™H 2914 |;E¥ATH 4609 |ERTH 935 |FiIfE™ 13,889 | XK:ZETH 1,602
26 f2E&™ 2920 AEHET 13568 [;EfaTH 5178 |f#HETH 8207 |IKETH 2894 |HEETH 4595 |EUT 909 |FnFxUTH 13,632 | 1,602
27 #TTH 2,908 |FRE;ET™ 13,467 |EFH 5172 |BEXRTH 8152 | EHm 2892 |IEETH 4588 |IKETH 901 [JKPET™ 13,623 |FH=ET 1,593
28 REATH 2902 ERBET™ 13,436 |JKPTH 5168 ;&M 81.25 |tH#EETH 2886 |K&Hth 4441 | BH™H 888 |METH 13551 |[EEIRET 1,591
29 ;&M 2,853 | BFFTH 13,427 | &%Ith 5160 &R 80.22 |&LVf=FTH 2,869 |f@FTH 4,384 |tEETH 877 | BTHET 13,342 |{&&E™™H 1,580
30| Ri&™H 2,829 |#NIThH 13423 |FEm 5154 |HRIR#RXER 79.47 |HiIABT™H 2,838 |dbAmth 4,292 |t 845 |;E#ATH 13,251 |[LBt™ 1572
31 BT 2811 )G 13,406 |&Rt™H 5146 | K&HtH 77.75 |EWLlT™H 2,795 |ZHEM 4223 &R 842 |&Rth 13,137 | K&t 1,570
32|t@H™H 2,773 |¥EETh 13,284 |&H&H™ 5134 |db Rt 7691 |JKETH 2,792 |{£EETH 4,182 |;E¥ATH 841 |#LWgEth 13,071 | #Li%w 1,561
33|FHREH 2,710 38t 13,233 |FiE™ 5133 | Etth 76.84 |FETH 2,758 |Ei&TH 4,124 |FREARXER 837 |IEETH 12,848 |db AT 1,555
34 BRI 2676 |ES¥Th 13211 |BIRET™ 5116 |[LB™ 76.70 |E&TH 2,730 | Ki#ET 4116 |REKTH 836 |#AiITh 12671 | EilgmH 1,548
B EIRET 2,665 |FHIERTH 13,159 | RI&tH 5094 | ERFTH 76.15 | K&t 2,730 |i#Eth 4,103 |HHERETH 831 | Ri&mH 12519 =& 1,537
36 HItE™ 2,662 |;ETH 13,133 |[luAT 5,087 |JllistH 75.65 | BEHET 2,702 | K&t 3958 |fEBHT™H 824 |lLOTH 12,076 |t&ETH 1,525
37EE™H 2,660 Ei&TH 13,060 |JII&TH 5037 |[EERBET™ 7521 |luOwh 2686 ZEBTH 3,792 |lLfgth 813 |Etth 11,958 |JIlI&TH 1,523
38| LU 2659 |[{EETH 12,933 |FHfE=ET™ 5019 |BHEth 7478 |#¥AlUTH 2,655 |#RER™ 3,791 |J)KE™™ 797 BT 11,913 E#TH 1,522
39|KFT 2634 |BEH 12873 |f@H™™ 4974 |fBRETH 7452 |l TH 2,622 |[ELTH 3,783 |E&Eth 781 |E&T™H 11,886 |IHETH 1,516
40 iR 2568 |El&TH 12,721 |{&&mH 4959 |JKPET™ 7429 |#ETH 2,620 |lLOTh 3,718 |f&fmH 7571 |[LETH 11,881 |BiIfET™ 1,490
41 S 2536 |fEETH 12,692 | KR 4890 |E¥m™ 7416 |fEET™ 2,609 |R&ERTH 3,680 |#AllUTh 753 |i#EmH 11,788 |#H#E[RT™ 1,486
42| K5 2,528 |#LiRTH 12,643 |[LUT™H 4883 |E&T™ 7291 |[LET™H 2541 |¥NTTH 3,586 |FriET™ 750 | Kot 11,636 (LLAT 1,484
43 | fLiRTH 2512 |f&f™H 12,500 |[GETH 4869 |ElFTH 71151 | FFHFH 2528 |METH 3,559 [dbAdNth 742 |dbAMThH 11,623 &t 1,483
44| KRt 2508 | KHth 12,432 |;ETH 4849 |#xluth 71.29 |[dbAmth 2516 |[LBE™ 3,453 |#LiEvh 709 |[fEETH 11,521 |JKE™ 1,483
45| [LE™™ 2,492 |[Euth 12,306 |[tH#E[RT™ 4800 |luOT 71.03 |HfFH 2,467 | 3,383 |@i#BTH 709 |EEh 11,476 |BfFm™ 1,474
46| BELH 2,478 |#¥AlUTH 12,215 |ReARTH 4779 |FEWth 7056 |RKETH 2,460 |BEH 3,349 |luAavh 704 |&E%0th 11,465 |£iRt 1,462
47| ¥aluth 2441 |lLOvh 12195 | K& 4650 | KiZETH 69.73 |fERETH 2454 3Rt 3,199 |[{EEw 687 |BEATH 11,266 |fEE™ 1,453
48| ZFTH 2,420 | KFrth 12,170 |f2R@mH 4,634 0Lt 68.49 |FHEH 2447 |fEET™ 3082 [ERBEW 650 |[ELUTH 11,203 |t 1,419
49 ;EfATH 2,420 |dbhnTh 12,141 |FBRFmH 4611 |f8H™ 68.23 | FFrLTH 2435 |EHth 3,064 |FEF;h 619 |fE[™H 10,984 |f2[tH 1,419
50 F0Fr U 2412 |[LE™ 11,857 |ALIRTH 4602 |IBE|@™ 66.47 |#LIRTH 2425 | KBrth 3,013 |#kAH 612 EIRE™ 10,564 |REART 1,417
51| Bm™ 2,373 | E&tH 11,293 |[db Al 4591 |{&EE™H 66.29 | =x0tH 2,289 | Etath 3,005 | KHth 611 |#lh 10513 | f0Frumh 1,256
52| & %nth 2,201 |#0gruTH 10,163 |F0grLm 4468 |FLETH 63.09 |FF;mT 1,617 | F0gruth 2289 |Ei&TH 591 |#RZEETH 9,448 |FEmETh 1,080
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02E 1,381 |[2H 636 |£HE 1,086 |£H 1260 |[2F 586 |2[EF 798 | £H 4988 |[&F 1225 |[&H 502
N E/ ;) 3,022 |FnFrUTH 1,670 |ELUH 1,595 |BERET™ 1,911 | &% 1,930 |&%0mH 2,093 |FE#&RT™H 8,188 |f&HTH 1,968 |f@Hm 952
2 B5HM 2084 |[FHHH 985 |EX[TH 1,488 | E¥mH 1,838 |EWT™H 1,273 |EERTH 1,655 | ZRMW 6,370 | EK¥ ™ 1,798 | E¥mH 713
3 R ARX &R 1,755 | H#RTH 926 |FXETH 1,480 |HFHF™ 1,758 |l 968 |LLfizTh 1,188 |f2Em 6,184 @B 1,780 ELUm 670
4\ #L1R™ 1,721 |%@E™ 906 BB 1,389 [hETH 1,640 |f2ETH 955 @Bt 1,126 |lLUfisTh 6,121 |EUmHh 1,773 | KiEMH 642
5| KRrm 1,713 | #LWgEmh 816 | HHM 1,361 |EUHh 1,621 [lLA™H 862 |lLOTH 1,100 |FEm 5975 =BT 1,612 B 633
6 B[ 1,711 | 3R&FH 812 |B&ITh 1,318 |{BET™ 1,597 |l 848 |JIlI&tH 1,083 |HRFABXER 5859 | KiETh 1,549 8Bt 630
7 &0V =FTh 1,708 |FAHET 785 |iE#ATH 1,300 |EHTH 1,574 &R 817 |FEmH 1,056 |l 5832 |IEETH 1455 LR 623
8 #E@™H 1,672 | REHEBXER 775 |FRRETH 1,277 |#ET™ 1,552 |ElUt 764 |FRRET 1,053 |#EmH 5802 |i&Rth 1435 |€R™ 597
94K 1,647 | KFIrm 773 iRt 1,264 |3Rth 1,538 |FEH 697 |HFFTH 992 [iETH 5787 |lUFzTh 1,430 WU 589
EI=N 1,613 #¥Ith 738 | EEH 1242 |{EET™ 1498 |HFFmH 694 |;EHATH 981 | KBrth 5785 |Fiath 1,430 R 586
11 #ATH 1599 E¥m 717 |E&tH 1,237 ¥l 1,489 |€iR™h 678 |[LBT™H 919 |BERH 5,731 |F#&RT™H 1427 |IEETH 573
12| F&=H 1,599 E£Bw 713 | KR 1,219 |lLUfizTh 1,486 | KPR 678 |[l&ETh 911 |SLV=FH 5,682 |FnFrLUTH 1,393 |[ERET™ 529
13| KR¥m 1,593 | KiEm 700 |FiET 1,202 |ERE™ 1475 |fB#&[RT™H 677 |FEWTH 906 |FHRETH 5682 |&iRtH 1,367 | #0grILTH 527
14| ERTH 1544 |JKFPT 676 |SHH 1,197 B 1,466 |#EmH 664 |FHERET™ 905 |HiItE™H 5604 |FFFTH 1,355 |RitET™H 507
153%™ 1,542 |JIli&TH 670 |£R™ 1,192 |IxETH 1,423 |[ET 646 |ELUTH 889 | ¥ 5598 |JKETH 1,299 &HEM 505
16 )KFE ™™ 1,531 |#EmH 668 |BTEM™ 1,191 | R 1,407 |de it 641 |HEETH 885 |RKHETH 5590 |KFrth 1,295 |[&H#H&™ 501
172Ut 1,500 3R 664 |JIli&TH 1,190 | KPR 1,393 |fEET 635 |fEETH 877 |BFFTH 5548 |Jlli&tH 1,282 |JII&TH 496
18| K& 1473 |F#FETH 652 |IKETH 1,186 &2 HE™ 1,358 |flhET 630 |dtAhiNTh 872 | Ki#EMWH 5526 |FERETH 1,265 |FHE™ 493
19| KEH 1467 WLz 650 |RIGH 1,184 |#ET 1,343 | Ri&m 626 |BiItE™ 867 |#FiA™ 5471 |ZHEM™ 1,236 | KR 489
20lETH 1,452 tH¥E[ET™H 649 |{l&E 1178 |[GET™ 1,339 |E#ATH 625 | Kot 864 |#&th 5461 |E8[E™H 1,236 | ZR#&RT 486
21 FREET 1431 | ELWV=FEmH 645 =BT 1,166 |fAHE[R™ 1,334 | FREHBXER 622 |#¥iITh 857 |JKFEM™ 5218 [EERET 1,235 | E¢EEm™H 476
22 fgB&Th 1,415 |ElUm 644 |tEETH 1,155 |[#0FrUTh 1,297 |[#¥ T 607 |HEARTH 853 |fHIE[RETH 5201 |#&/ETH 1,168 |i#Eth 472
23 AT 1,415 |f@Hm™ 644 |fEETH 1,149 |FfFmH 1,295 |ELV=FH 601 |FHET™H 832 |ElUm 5175 |fBHERETH 1,164 |REABXER 471
24| 1| I&7h 1402 |IEBRTH 627 |BRFFH 1,146 |ZR™™ 1,292 | Ky 600 |&ELV=FET 824 |f@Hm™ 5113 |#FT™H 1,162 |B%[EH 470
25| ¥ Ith 1,364 ‘=&t 617 |REABXER 1,137 |;E¥ATH 1,285 |HFH™ 593 |EREABXER 813 |&F#H™ 5082 |HEABXER 1,150 [JKE™ 470
26 f@FH 1,357 i@ 614 |[IUFzTH 1,136 [lLAtH 1,274 |FH=TH 593 |&iRth 802 AHEM 4,868 |HItETH 1,147 |#EH 469
27 EMATH 1,314 fiETT 611 |gi#B™H 1,123 |#Ligm 1,269 1Rt 593 | KFrth 798 |ERiETH 4861 |EStth 1,142 |Ei&mH 469
28/lLAT™ 1,287 |;EWT 602 |FEH 1,119 &8t 1,248 | 592 |&ATh 796 |#ETH 4772 |EFHFT 1,136 |#H#E[RT™ 456
29 ¥R 1,270 2B 599 |fFTH 1114 | &R 1,238 | 592 &t 778 | &Rt 4675 |BEH 1,117 Bl 456
30 FEM 1,262 | #alumh 594 |(luOTH 1,094 |BIfE™ 1,237 [{&&mH 576 |fAFTH 756 | fLiRtH 4655 |FEW 1,083 | St 445
31|fEET 1,250 |[fAF ™ 585 |m&RTH 1,083 |JKETH 1,220 |ESfTH 575 | B&HFM 755 |IKETH 4518 ;& 1,081 | RI&GH 442
32|HET 1,232 |ELUTT 581 |[{EET™ 1,080 |JIW&TH 1,210 |[fFT 574 | RI&BmH 751 |#3TTH 4,401 |;E¥ATH 1,073 |#LigmH 435
33|z BT 1,214 | FEmH 575 |[LB™H 1,074 |&%0H 1,199 | Ki#EMH 566 |[{EE™ 748 | FFrLTH 4,357 |FXHETH 1,063 |#F™ 434
34 ST 1,202 BT 574 |HHEETH 1,065 |#FT™ 1,195 =& 556 | ¥fiiath 745 |;E¥TH 4278 |BERET™H 1,051 | FEmH 415
35 EBfFTh 1,178 | RI&mH 572 |dbAmTh 1,063 |FEEH 1,182 |gitE™ 552 |BX[ETH 733 [{EEB™H 4,250 |#LigEtH 1,048 |FRFmH 415
36| Uz 1172 |ILBT 561 |JKETH 1,062 ST 1,172 |2 ET 541 | KEMH 724 | dehMTh 4230 ¥\ ITH 1,045 |[{4EET™H 414
371 LET 1,166 | F%Mm™ 560 |[f@FmH 1,048 |iETH 1,169 |f2[mH 536 |Z=BEm™ 721 |ETH 4134 |SLNf=FTH 1,031 ¥ I 408
B BEHET 1,164 |RERT 560 |#¥AiTTh 1,019 [deAuimth 1,144 | ERTW™ 504 |f&fTH 720 | K&Hth 4116 |{fEE™™ 1,015 |[fAE™™ 405
39 REATH 1,152 AHE™ 546 |Stath 1,002 |ERFAXER 1,121 |$¥iEm™ 502 |JKETH 709 | RI&tH 4041 luOw 1,015 |geRT 400
40 BELH 1,149 |Hi¥ET™ 542 |f&fm™h 995 |[EuTh 1,112 |E&H 498 ATHEM™ 681 |f2fEmH 4023 |[Elm 988 | KHoth 398
41| = iEH 1,122 & 538 |i&m 994 |#xluth 1,111 |JKF™ 496 |[faHT™ 651 |[LB™H 3984 | RIGmH 980 |&LVvi=FTh 389
42 |[Euh 1075 {EET™ 532 |#¥A U 988 |FEM™ 1,103 |BEAT 490 FoFrUT™ 624 |BEARTH 3,791 |Ei&TH 976 |[LETH 381
43|&R™ 1,068 FRFm 529 |#0FkLTH 979 |f@FHM™H 1,086 |f@Hm™H 483 | E¥Fm 605 |LuOTH 3,786 |flET™ 968 |[ELLTH 371
44 ¥ UTH 1,067 {&E&Em™ 524 | K&H 968 |R&RTH 1,083 |R¥ ™ 442 |'Ei&T™H 593 &t 37711 |fEE™ 966 | Ef0TH 369
45| Kot 1,059 | K&t 524 |#L1RTH 960 |K&Hth 1,079 [;#ETH 435 & 590 |E&TH 3,717 | K&Hth 949 [;EMATH 368
46 | Friam™ 966 EEIRE™ 484 [T 952 | K:i#Eth 1,076 |IKEH 430 |R&RT 589 |fEETH 3,659 |REARTH 913 |luA@ATH 359
A7{4EE™ 964 | FiAmm 483 |FHETH 947 | ITH 1,045 |F0FrLm 414 | FLIETH 562 |[ELTH 3,650 |E%0Th 907 [iETH 358
48 | L A 949 |i#ETh 471 | &SLWV=FETT 908 |f&fflmh 1,029 |ALIRTH 366 |IHETH 553 |#aluth 3284 |[LBTH 900 |fEETH 352
49 |f& ™ 944 |{ER™H 458 | K;E™H 906 |HEARTH 967 |#lUth 364 EIRE™ 498 BRIRE™ 3,136 |#AUth 809 |dbAdNTh 346
50 ;&M 929 |&%0th 436 |REARTH 814 |&LV=FETH 931 |FkET™ 359 |®FKETH 441 |EWTH 2,784 |dbATh 807 |f2fth 309
51 ERE™ 918 |&iRH 418 |[EREB™ 783 EIRE™ 893 |EIRE™ 349 |#xluth 424 P Fmmh 2,749 |f&[™H 791 |#aluth 298
52| & %nth 867 |dbAdTh 397 |#REETH 565 |BRERTH 651 |ARERTH 207 |BREETH 245 |&%0H 2,163 |#E;EH 462 |FREmETh 184
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02E 415 2H 2,336

1iuah 661 | H&HFM 3,059

2| mERT 654 |HEERETH 2,825

3| FET™ 616 |SLV=FMH 2,802

437H 613 |EUTH 2,784

5 F T 556 | ERERABX &R 2,765

6| REATH 530 |B¥[E™H 2,743

71\ KH 528 |EtaTh 2,739

EI=Yi 507 Mb&ETH 2,703

9 EHH 503 |FEMH 2,698
10/f2&H 497 | FiET™ 2,688
11 F 03l 483 |#EETH 2,653
12/ dE 469 |JIlI&TH 2,623
13 B2HEM 466 =BT 2,594
14| =& H 456 | FRFmTH 2,512
15 B fFH 451 |BERET™H 2,500
16| )15 7R 431 fEBEm™ 2,492
17| &#mh 417 [ #LIET 2,419
18]I & mh 416 |RiIAE™ 2,401
19| F#=E™ 412 |HEHET 2,396
20 4R 412 |BBfF™H 2,388
21| &R 410 & 2,354
2kEH 408 ‘=& 2,342
23|t8HH 406 LUzt 2,337
24 ;EMATH 398 | KiZET 2,330
25| KBrth 391 | RIGH 2,316
26 FFRE™H 386 |&iRth 2,287
27 B 383 |RxETH 2,278
28;E™H 379 |WITh 2275
29 fRIEET 376 [#FT™H 2,259
VD ERET 368 |[LET™ 2,254
31| REHEAXEB 363 BAEHEM™ 2,251
2 EET 357 &t 2,247
33 KFTH 355 |FHBET 2,243
34| =LV =FhH 354 |[Euth 2,205
35 R 352 | KBt 2,186
36 | B[ 351 EREM 2,183
37 FEH 350 |JKFETH 2,179
38 &R 348 K™ 2,172
39 ¥\ ITh 343 |REARTH 2,158
40 | ALIE 342 |&%0th 2,124
41 |gil4E™ 340 |IEETH 2,113
42| ¥x Ul 333 |i&th 2,105
43 Eluth 332 |fEET™H 2,053
44| Uz th 328 |{EE™ 2,041
45| KiEMH 327 |#aluth 2,002
46 |t 322 |BEh 1,954
47 Fiat 301 |f@Hmh 1,934
48 SHITH 287 @[t 1,928
49| [ BT 287 |dbATh 1,910
50L& 276 |luOTh 1,886
51 B&Hm 265 | KHmh 1,845
52 3R ERTh 202 |FOFkUTH 1,727
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